
Sample size equals surface times flux times time.

What is the needed time, Anyhow?

Eugenio Paoloni, 
Pisa 19 ottobre 2012



5TTC Chip 63 0x40: E.g.

Alignment: ~ 5’ 

Reconfiguration: ~ 7’ 
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A typical run (2420)
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Whole dataset (125 runs)
95619 evt. 
40864 sec ~ 11hr 21’ 4’’
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Whole dataset (125 runs)
95619 evt. 
40864 sec ~ 11hr 21’ 4’’
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What’s all this event stuff, anyhow? The 996.86‰ 

Bettarini’s Plots

3.14‰ 
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Conclusions
• A brilliant luminosity model for the next Beam Test has been 

proposed

• 1/4 hours for the alignment & 12 hours of data taking 

• 95619 events collected  301 of which on target

• Should we shrink the area trigger window?
By now 6 by 6 pixels… perhaps 4 by 4 is adequate 
( almost a factor 2 improvement)

• Should we request a saved event on the EDRO 
side? Some MEG events are not on the Robin data 
stream
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Fine


